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O frafaf@a § ¥ FiF oRa I afFF-2023 F A
L AT a1 BT

II. ST haiere 3TH sEam
Ans X 1. Fger I

V2 1 9T I arar

X @TgfnIaTgr 1o

X4 T 11

Question ID :
Option. 11D :
Option 2 ID :
Option 31D :
Option 41D :

Status :

Chosen Option :

630680702971

6306802753636
6306802753638
6306802753639
6306802753637

Not Answered

Q.2 TEF T 9RER FeUrT ANET GERT FHIRA AH FEELT WA 2020-21%F HFAL, 31 AT 2021 7F
TSET T 0K ameor at & wrufie T 7 g £

Ans K 1. 35140
2 25140
X 3. 5140
X 4. 121540

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

630680702970

6306802753635
6306802753634
6306802753632
6306802753633

Not Answered




Q3 FF=fofla & & es T BT 2022 § J90 Ho% =907 9e& e
Ans X 1. ITTALATA

X2 3eay g&or
5 Far T JIEoT 9
X 4 HERTSE
Question ID : 630680702969
Option 1ID : 6306802753630
Option 2 ID : 6306802753631
Option 31D : 6306802753628
Option 4 1D : 6306802753629
Status : Answered
Chosen Option : 4
Q4 FT 9T FTeTr F AT TgTEr W I gufeeTd F HTY HSAT ST E
Ans X fareaeRaAT =
X2 g Fa4dr

Question ID : 630680702976

Option 11D : 6306802753656

Option 2 ID : 6306802753658

Option 3 ID : 6306802753659

Option 4 ID : 6306802753657
Status : Answered

Chosen Option : 3




Ans

X 1..943
X 2923
3. 049
X 4 929

Q5 2011 & FAUA F HITR, RS & AT &= F v 3y gl

Question ID :

Option 11D :

Option 2 ID

Status :

Chosen Option :

630680702978
6306802753666

: 6306802753664
Option 31D :
Option 4 1D :

6306802753667
6306802753665

Not Answered

X 2. 3aer fohgreT @am
X3 T Oret
X 4 3rae Be BT

Q.6 Tfeer amas & Gemw vNEE T Hews F T # I gw Gefataa § § frw deeT ¥ 98
Eigd

e v fegrae wrfare Rafesrers amdt

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

630680702973
6306802753646
6306802753645
6306802753644
6306802753647
Answered

1

Ans

Q.7 &l &9 &r

X 1. 1986
X 2. 2004
3 1967
X 41992

# s wiaure $ amedt g # enfier far T A

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

630680702975
6306802753653
6306802753655
6306802753652
6306802753654
Answered

3




Q8 ofygdr OT F HCT T F FeT AT 2l
Ans X1 HIIASSH dT

v 2. FedT Herd
X 3. ATATET d<
X 4 iRt

Question ID : 630680702977
Option 1 ID : 6306802753662
Option 2 ID : 6306802753661
Option 3 ID : 6306802753663
Option 41D : 6306802753660
Status : Answered
Chosen Option : 1
Q.9 Read the given statements and identify the national income aggregate.

It is the market value of all final goods and services produced within a domestic territory of a country measured in a

year.

Everything is valued at market prices.

Ans o 1. Gross Domestic Product at market prices

X 2. Net Domestic Product

X 3. Gross National Product at market prices

A 4 Net National Product
Question ID : 630680702972
Option 1 ID : 6306802753642
Option 2 ID : 6306802753643
Option 3 ID : 6306802753640
Option 4 ID : 6306802753641

Status : Answered
Chosen Option : 1




Q.10 #Ra & 3=IEd T F TAS GuN HEe= F Te 3, 768 oA & Fag § TemtfEa § ¥ = o
FUF T

L AT 3oree & [T F7 & & @0 e § WAgy Ae & 784 &
11 Feaailers TATST & T 53 Teg U & &7 o

Ans 1 Fer]
X2 @ g 14T gl
X3 FhEd Il
X 4 1gAT I arar

Question ID : 630680702974

Option 11D : 6306802753648
Option 2 ID : 6306802753651
Option 3 ID : 6306802753649
Option 4 ID : 6306802753650

Status : Answered

Chosen Option : 1

Section :General Science

Q1 AR AfETw & wes &, Petad § ¥ i aE e ogr

|. AETSH T HET W= T 6T FTATTH g

Il sErafEass & A o & 938 s gg = F o a7 A
Ars | e | @t

X2 ae |

Xa amarlargrll

X 4 et |

Question ID : 630680702984

Option 11D : 6306802753690
Option 2 ID : 6306802753688
Option 3 ID : 6306802753691
Option 4 ID : 6306802753689

Status : Answered

Chosen Option : 1




Q12 v I F wfaefer et m gemae # awg i Al Fe ¥ rET g B
Ans

X1 —mv
2

¢ 2 —mv?

X3 my2

X 4. mv
Question ID : 630680702986
Option 1 ID : 6306802753698
Option 2 ID : 6306802753699
Option. 3 ID : 6306802753697
Option 4 ID : 6306802753696

Status : Answered
Chosen Option : 2
Q.13 The potential difference is measured by means of an instrument called the
Ans X 1. anemometer

X 2. galvanometer

« 3. voltmeter

X 4 ammeter
Question ID : 630680702989
Option 1 ID : 6306802753708
Option 2 ID : 6306802753710
Option 3 ID : 6306802753711
Option 4 1D : 6306802753709

Status : Answered
Chosen Option : 3




QU I & TR AT g

Ans X’I_ m
X > TETES
X3 @

v 4 THET

Question ID
Option 1 ID

Status

Chosen Option

: 630680702985

: 6306802753695
Option 21D :
Option 3 ID :
Option 4 ID :

6306802753692
6306802753693
6306802753694

: Answered

c 4

Q1> g % TH @ pH TR 2 &
Ans X 1. 8.8

2 22

X3 44

x4 6.6

Question ID

Option 3 ID

Status :

Chosen Option :

: 630680702982
Option 11D :
Option 21D :

6306802753683
6306802753680

1 6306802753681
Option 41D :

6306802753682
Answered

2




Q6 sdorEy, _, fagd (u), safEgd (v), gur e gdor & wew gl (f) F dey e #

Ans 1 1 1
V- + = ==
v u f
x 1 1 1
22— — = —
vz uz fZ
x 3 1 1 1
v}.’. uZ fZ
1 1 1
Xa —_— ==
v u f
Question ID : 630680702988
Option. 1 ID : 6306802753704
Option 2 ID : 6306802753707
Option 3 1D : 6306802753706
Option 4 1D : 6306802753705
Status : Answered
Chosen Option : 1
Q7 FrAEE IT F IS AT T g
Ans . TRSTAIHAIAET
X2 R
X 3. grEaTHEeY
X 4 STATATSATHET
Question ID : 630680702983
Option 11D : 6306802753687
Option 2 ID : 6306802753686
Option 3 ID : 6306802753685
Option 4 1D : 6306802753684
Status : Answered
Chosen Option : 1




Q.18 FIT F &g TGS & ¥ 5F TR =1 TgTaw A& &1 3a=tor 27

Ans X 1. gfataEuTas TR

v 2 mEEa HEfRa
X3 farumae sfafRar
x4 aree sfafesar

Question ID

Option 41D

Status :

Chosen Option :

: 630680702981
Option 11D :
Option 2 1D :
Option 31D :

6306802753679
6306802753676
6306802753678

: 6306802753677

Not Answered

Q19 famd a5 F7 TE 7 &, [SO8 o 38 3 HR T A B
Ans o 1. AT
X 2. O T
X5 gfagrer
X4 rEamaa
Question ID :
Option 11D :
Option 2 ID
Option 31D :
Option 4 ID :
Status :
Chosen Option :

630680702987
6306802753701

: 6306802753700

6306802753703
6306802753702
Answered

1




Q20 FE F AT FTAH fohaar grar g2

Ans 1. 12
X216
X3 14
X4 B
Question ID : 630680702980
Option 11D : 6306802753673
Option 2 ID : 6306802753675
Option 31D : 6306802753674
Option 4 1D : 6306802753672
Status : Answered
Chosen Option : 1
Section :General Trade Knowledge
2 ¥ T wrutAE 3T T B2
Ans X 1. T AT
v 2 WHAT F ASFGAT F gles
X 3. ATIAT
X 4. SRIEAT
Question ID : 630680703015
Option 11D : 6306802753815
Option 2 ID : 6306802753814
Option 31D : 6306802753812
Option 4 1D : 6306802753813
Status : Answered
Chosen Option : 2




Q22 o # ghe FT TEeTes H FTECAT T FAT I 5T 67
Ans X g FW g HT &aT &

v 2 TF W FIFT FA §

X5 SHEHN FIg FAT AL T5AT

X4 Ig W A #T 3T &

Chosen Option

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 41D :

Status :

03

630680703007

6306802753783
6306802753781
6306802753782
6306802753780

Answered

Q23 faegd T&IT & AR dcd § TR Tl g URT F FAT TS @ 32
A X 1. SR o TR S GHIE & I8

v 2 T Tog B OAH F ST €

X3 ZHY TC Hie & AT &

X4 T Ieg F O3 W T

Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

630680703008
6306802753785
6306802753787
6306802753786
6306802753784
Answered

2




Q24 fordlr Sardr 7 gam 37 <fie (SDS) # 3397 FAT 27
Ans X\ ST & 3Tl T AT SET

X 2. cofFaeTd STHAFNT FTHAT FLaT

v o 3oTEr R T fr G W SRR TEe F

X 4 Hhaell & B A T FAT qeAAT

Question ID :
Option 11D :

Option 2 ID

Status :

Chosen Option

630680703019
6306802753829

: 6306802753830
Option 31D :
Option. 4 1D :

6306802753831
6306802753828

Answered

03

Q.25 Which of the following is a common effect of electric current passing through aresistor?

Ans

& 1. Tllumination
« 2. Heating

X 3. Magnetization
X 4. Cooling

Question ID :
Option 11D :

Option 2 ID

Status :

Chosen Option :

630680703010
6306802753795

: 6306802753793
Option 31D :
Option 41D :

6306802753794
6306802753792
Answered

2




Q26 ForE A HETEF T & AT FHEAR T HA & T T3 AT 7

Ans - K1 e
72 e
o 3. ollel
Question ID : 630680703003
Option 11D : 6306802753765
Option 2 ID : 6306802753766
Option 3 ID : 6306802753764
Option 4 ID : 6306802753767
Status : Answered
Chosen Option : 3
27
Q27 A ¥ valfea Segd uRT & Far 9 T g7
Ans X 1. T GeRTel 3c9ed FIAT g
X2 gg a7t der AT
X 3. I FiecAT JeiT e 39+ FIaT &
S Y -
4. U d
v 4 ZHH FROT AT A I g
Question ID : 630680703009
Option 1 ID : 6306802753788
Option 2 ID : 6306802753789
Option 31D : 6306802753791
Option 4 ID : 6306802753790
Status : Answered
Chosen Option : 4




Q28 FfE 3w thearedl # BN HATH GATE & A TR FT FIAT T2
Ans X1 3o IRER FT FATAT =T

o 2.

rerecan e &1 37T F& gia T e @1

X 3. Ogel HIAT HIA WcH T AMgT
X4 gH ASHES HAT AT

Question ID : 630680703017

Option 11D : 6306802753823

Option 2.1ID : 6306802753821

Option 31D : 6306802753822

Option 4 ID : 6306802753820
Status : Answered

Chosen Option : 2

Q29 rafafas # ¥ Fia wafFaed FRET 39907 (PPE ) &7 3eTedvr &2
Ans X 1. FET FIT

X 2. FeThid

Vo g g

X4.a'-ﬂEg$

Question ID : 630680703016

Option 11D : 6306802753818

Option 2 ID : 6306802753816

Option 31D : 6306802753817

Option 4 ID : 6306802753819
Status : Answered

Chosen Option : 3




Q30 gryffs 399R F T H 7299 AT JFUH H 5T FoH FT 87
Ans X 1. ifag Fr @r| dr AT =T

X 2 ©1F T A ST

v o TR & T gcareys T AR HAr

X4 99T FE & T & FLT

Question ID : 630680703020
Option 11D : 6306802753835
Option 2 ID : 6306802753832
Option 31D : 6306802753834
Option 4 ID : 6306802753833
Status : Answered
Chosen Option : 1
Q.31 & # wiw 3N IeT waiF Fe AN N T F B gew w9 ¥ B §F 39w # awse
fora e &2
Ans X 1. %IN-
v 2 e |
X3 TEERN
X4 A
Question ID : 630680703012
Option 11D : 6306802753800
Option 2 ID : 6306802753803
Option 31D : 6306802753801
Option 4 ID : 6306802753802
Status : Answered
Chosen Option : 2
Q.32 TS H W TS F I H HE % 0T F IHK F JHEE I F 359ET R ST 82
Ans X 1.9 A
X 2. 7™ B
X 3 FEF
o 4. T K
Question ID : 630680703004
Option 11D : 6306802753768
Option 2 ID : 6306802753769
Option 31D : 6306802753771
Option 4 ID : 6306802753770
Status : Answered
Chosen Option : 2




Q.33 T HFT 39F Y Aol F AT FF HTTF T @ & aF HTHr AT FEAT TMET?
Ans x 1. TREeRT | 9T@T FEaT 1eT

X 2. HATAAAA FEET F A F ST AT TRT

X 3.
TETT TF F F AT JTAemHT IF F1 39ART F3 IRT

v 4 g P AHra gea fgT

Status

Chosen Option

Question ID :
Option 11D :
Option 2 ID :
Option 3 ID :
Option4 ID :

630680703005

6306802753775
6306802753773
6306802753772
6306802753774

: Answered

13

Q34 T TFargy #T W& 3297 1 87
Ans 1 el I@TC T

X 2. T ATTAT

X 3. oETS ATIAT

X 0. Bf HEAT

Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

630680703013
6306802753804
6306802753805
6306802753806
6306802753807
Answered

2




Q.35 IfE BT F FH T TR TS 3T T AFHAT FE T AT A HTGH! FAT A AET?

Ans

X1
HI W ¥ v Bl ggwedt & gdem Far =g

X 2. SH A FIAT AT
X s & FT BT FTH I =T TR

o 4.

SH WS R 9T & o @fge d#R 9E wemer afge

Chosen Option

Question ID :
Option 1 ID :
Option 2 ID :
Option'3 1D :
Option 4 1D :

Status :

630680703018

6306802753827
6306802753824
6306802753826
6306802753825

Answered

4

Q36 FH Fed F T FHiF T §5 3TRUN(Tool) F FIRT THar Fram 7

Ans

R LR
v 2 TOTH FET
X3.%j:r\r

X 4 coTEe

Question ID

Option 4 ID

Status :

Chosen Option :

: 630680703011
Option 11D :
Option 2 ID :
Option 31D :

6306802753797
6306802753798
6306802753799

: 6306802753796

Answered

2




Q37 offe Hed T Fex & fow Fg &7 IT0T F1 39T FAr Frar 2

Ans X' 1. W
X 2. B (Chisel)
X3 ar
v fesr Teew

Question ID :
Option 11D :
Option 21D :

Option 3 ID

Status :
c 4

Chosen Option

630680703014
6306802753809
6306802753808

: 6306802753811
Option 41D :

6306802753810

Answered

Q.38 s o Prlleror & forg smeifr omaf 7 82
A o TR

X 2. JATTEF (Quarterly)

X5 e

X 4. Zfai¥s (Biennially)

Question ID :
Option 11D :
Option 21D :

Option 3 ID
Option 4 ID

Status :

Chosen Option

630680703001
6306802753756
6306802753757

1 6306802753758
: 6306802753759

Answered

: 3




Q.39 HTHAATHF TT FT ITIT FId FHT JUFT FF 1T FHT 3ITART HAT T1RT?

ANS 1 AT W HBTE AT
X 2. FedeRR A H BT
X3 g0 FIX Fr HT AT FET
X4 AR ¥ I

Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

630680703002
6306802753762
6306802753760
6306802753763
6306802753761
Answered

1

Q40 HTFUTHF TT F 3YTRT I TAT HTH! HaT Tgol FAT FIAT TAMFT?
Ars o e Y dieer anfRe

X2 g W gET AR

X3 HET & 97 W fAemar semar afge

X 4 IATA-FITT § &Y AT AET

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 41D :

Status :

Chosen Option :

630680703006
6306802753776
6306802753778
6306802753777
6306802753779
Answered

1

Section :Numerical Ability




Q41 AABC & HH&TUT A 9T g1 AB = 5, AC = 10 gl cos B & AF T g2

Ans 5
X1 =
b
1
o 2. T
5
x 2
3' R
5
x 8
4_ -
5.5
Question ID : 630680703000
Option 11D : 6306802753754
Option 2 ID : 6306802753753
Option 3 ID : 6306802753755
Option 4 ID : 6306802753752
Status : Answered
Chosen Option : 4
Q.42 AABC, APQR % @H®T g1 AB = 4 &1, BC = 8 & = AC = 10 ¥.#L &1 95 QR = 16 &
%, o PR & AT w7 7
Ans 7120 H.AT
X2 40 AL
X310 wA.
X4 15 Far
Question ID : 630680702998
Option 11D : 6306802753745
Option 2 ID : 6306802753747
Option 3 ID : 6306802753744
Option 4 ID : 6306802753746
Status : Answered

Chosen Option :

1




Q.43
ot a225+1:]b

Ans

v 1. 375
< 2. 360
X3 625
x4 125

g, dr 3(a - 2b)° & AT FT &7

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

630680702995

6306802753734
6306802753732
6306802753733
6306802753735

Not Answered

Q.44 131 T4 & TR & p, g T r F W v FefaT fram mw & & p #7 g ¥ 4 T4 30 w7 @
g q & r ¥ 5 T AUE g @9 1 3% REd F g 4 g?

Ans

X146 :
v 2 48
X3 46 :
X4 47

42
44
37
43

39
39

- 42

38

Question ID

Option 4 1D

Status

Chosen Option :

: 630680702993
Option 11D :
Option 2 ID :
Option 31D :

6306802753726
6306802753724
6306802753727

: 6306802753725

: Answered

2




Q45 UH AT F IRAT 24 AL § IO FFEER 10 A T AT F TR FT 82

e X5 a2
X2 30 F.#2
V5 20 T2
X410 FAT2
Question ID : 630680702997
Option 11D : 6306802753740
Option 2 ID : 6306802753743
Option 3 ID : 6306802753742
Option 4 ID : 6306802753741
Status : Answered
Chosen Option : 3
Q46 gfE we goa Fr o 44 FAY 7, I swhr B w3 22
Ans 717 BLAT
X2 14 @5
X3 5 FaA
K4 22 FA.
Question ID : 630680702996
Option 11D : 6306802753739
Option 2 ID : 6306802753737
Option 3 ID : 6306802753738
Option 4 ID : 6306802753736
Status : Answered
Chosen Option : 1




Q.47 AD, AABC @r mfema §1 G, AABC 1 &egar g1 TfE AG = 20 WA &, @ AD & =ams =m &2

Ans X120 WA
X2 40 A
X3 25 @A
v 30 T
Question ID : 630680702999
Option 11D : 6306802753750
Option 2 ID : 6306802753751
Option 3 ID : 6306802753748
Option 4 ID : 6306802753749
Status : Answered
Chosen Option : 4
Q48 fg x + y = 25 Fur x2 + y? = 313 &, & (xy) & 7 F=r§?
Ans X 1. 212
2. 156
x5 132
X 4196
Question ID : 630680702994
Option 1 ID : 6306802753728
Option 2 ID : 6306802753731
Option 3 ID : 6306802753730
Option 4 ID : 6306802753729
Status : Answered
Chosen Option : 2
.49
Q4 (6.28 + 5.18)2 - 4 x 6.28 x 5.18 T AT FT &2
Ans X' 1. 121
x2.144
v 3 1.21
X4 144
Question ID : 630680702991
Option 11D : 6306802753717
Option 2 ID : 6306802753718
Option 3 ID : 6306802753716
Option 4 ID : 6306802753719
Status : Not Answered
Chosen Option : --




Q.50 X @Y T @WNR H $H TR A g § 5 X & T@wr &1 & 770, Y F @y F 05 6w F

T ¥ AR T AT 21000 T E, S X F Ewr Fw o

Ans X1 3000 T

« 212000 TII
739000 T
X 4 15000 9T
Question ID : 630680702992
Option 1 ID : 6306802753723
Option 2 ID : 6306802753721
Option 3 ID : 6306802753722
Option 4 ID : 6306802753720
Status : Answered
Chosen Option : 2
Section :Logical Reasoning
Q51 FE=faf@d yea & ffu 7v Reed # @ wafoq 3R A # gE0
WJ:UH = ?
Ans o 1 XK 1 VI
X2 XZ : UR
<3 RU : RI
X4 0U : NN
Question ID : 630680703031
Option 11D : 6306802753877
Option 2 ID : 6306802753878
Option 3 ID : 6306802753879
Option 4 ID : 6306802753876
Status : Answered

Chosen Option :

1




Q52 & fear s @ R 9w $frgar qE seres # s FiEEr Fr gEm H ol g

Ans

400

1000

800
600

M @or N e ffe g #r g & siwa #=r 82

v 1. 600
<2400
<3500
< 41200

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 41D :

Status :

Chosen Option :

630680703034
6306802753889
6306802753890
6306802753888
6306802753891
Answered

1




Q.53 @ few 7w maw & Fo FuA AR 37F A 39 FUA W ARG Fo FY GE AW g1 e v e
F WL AN, TE 3AH THT AT J # Beaar g @sl Feey o st v Ruiia w & R e
Fia ¥ FeFd, BT v At $ R v gEaed §

Eir e

| IS o 717 T G B

Il 15 st =17 wEfra =8 &
ey

. T g T @
Il mefr gsfer 7= g

A X1 gieT e | T |l 3TETOT H g
v 2 Fad sy | 3ERT HAT 8
X 5 Fae Ty || 3TEor FYar §
x o wrs o T regavor FE FaT

Question ID : 630680703028
Option 11D : 6306802753866
Option 2 ID : 6306802753864
Option 3 ID : 6306802753865
Option 4 1D : 6306802753867
Status : Answered
Chosen Option : 4
Q.54 & BEFE, F, G, H, |, J, K 3R L & Temer &= % 911 3K &3 & faolig far &7 61 79 &0
BEEH A T IS FHFITH I g T R J, HF i & Fw o |8
GEFTE T T WE J EF a8 § g T W &I Haw L & &9 w7 & 2
Ans X 1. H
2 K
<3 F
x4
Question ID : 630680703026
Option 11D : 6306802753856
Option 2 ID : 6306802753858
Option 31D : 6306802753857
Option 4 1D : 6306802753859
Status : Answered
Chosen Option : 2




0% frafafee ge7 & & 7% g/EeT # ¥ T IF AT HAT
480, 481, 485, 501, 565, ?

Ans X 1. 830
X 2. 840
v 3 821
<4820
Question ID : 630680703033
Option 11D : 6306802753886
Option 2 ID : 6306802753887
Option 3 ID : 6306802753885
Option:4 ID : 6306802753884
Status : Answered
Chosen Option : 3
Q.56 6 f&= B1, B2, B3, B4, B5 3 B6 U % 3w UF W U ¢ Afkw =%l 7@ fF g A F # B4
o & gEY T W @7 T &1 B1 & o FEer ar e w@ v 1 F=er B5 # B2 & o= 1@
21 B6 F B3 ¥ FW TW@N T4 §1 B6 F FR frawr s @ 1w §7
Ans X 1.1
X 2. 4
30
X4 3
Question ID : 630680703027
Option 11D : 6306802753860
Option 2 ID : 6306802753862
Option 31D : 6306802753861
Option 4 1D : 6306802753863
Status : Answered
Chosen Option : 3




Q.57 et o REar & 98 # WEIT aae & 929, G 710 GHRIOr &7 A 18° grem?

18+6x7-5=+2

Ans o 1.+ 2T +
X2+ J94T x
X3+ gar x
X 4+ g -
Question ID : 630680703032
Option 11D : 6306802753882
Option 2 ID : 6306802753883
Option 3 ID : 6306802753881
Option 41D : 6306802753880
Status : Answered
Chosen Option : 1
Q.58 A is the brother of B. B is the sister of C. C is the father of D. D is the mother of E. E is the wife of F. How is C related
to E?
Ans & 1. Grandfather
X 2. Mother
X 3. Father
X 4. Grandmother
Question ID : 630680703030
Option 1 ID : 6306802753872
Option 2 ID : 6306802753874
Option 31D : 6306802753875
Option 4 ID : 6306802753873
Status : Answered
Chosen Option : 1
Q.59 & fafdre #1= smor &, ‘RESTORED’ & ‘PPCQZBPN' Tr@m = &1 $0 += oo & ‘SEIZURES’ &
FE Fr §?
Ans - X 1. ANMEXRTO
v 2. VFCROBPT
X3 VFRCBOPT
x4 ZXFOMBPT
Question ID : 630680703029
Option 1 ID : 6306802753869
Option 2 ID : 6306802753870
Option 31D : 6306802753868
Option 4 1D : 6306802753871
Status : Answered
Chosen Option : 2
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Ans 1. F
X2 E
X3 H
X4 A
Question ID : 630680703025
Option 11D : 6306802753853
Option 2 ID : 6306802753855
Option 31D : 6306802753854
Option 4 1D : 6306802753852
Status : Answered
Chosen Option : 1
Section :English
Q61 Select the most appropriate option for the given blank.
she didn’t like to cook but she learned it for her kids.
Ans X 1. But
« 2. Although
X 3 Yet
X 4. Neither
Question ID : 630680703038
Option 11D : 6306802753905
Option 2 ID : 6306802753907
Option 3 ID : 6306802753904
Option 4 ID : 6306802753906
Status : Answered
Chosen Option : 2




Q62 Select the most appropriate option for the given blank.

It is important to block unwanted numbers, ?
Ans X 1. Should it
« 2. Isn't it
X3 Isit
X 4. Haven't you
Question ID : 630680703036
Option 11D : 6306802753898
Option 2 ID : 6306802753896
Option 3 ID : 6306802753897
Option.4 ID : 6306802753899
Status : Answered
Chosen Option : 2
Q.63 Select the most appropriate option for the given blank.
The arrival of new language teachers excited all the students.
Ans X 1. Would
« 2. Has
X 3. Wil
X 4. have
Question ID : 630680703037
Option 11D : 6306802753901
Option 2 ID : 6306802753902
Option 3 ID : 6306802753900
Option 4 ID : 6306802753903
Status : Answered
Chosen Option : 3




Q.64 Select the most appropriate option for the given blank.

The quantity of food left in the house was

Ans X 1. Lesser

less to feed the whole family.

« 2. Quite
X 3. Many
X 4 fewer
Question ID : 630680703039
Option 11D : 6306802753910
Option 2 ID : 6306802753908
Option 3 ID : 6306802753909
Option-4 1D : 6306802753911
Status : Answered
Chosen Option : 2
Q.65 Select the most appropriate option for the given blank.
You should be wary of forwarded messages promising rewards, ?
Ans X 1. Should yvou
« 2. Shouldn’t you
X 3. Must you
X 4. Were you
Question ID : 630680703035
Option 11D : 6306802753892
Option 2 ID : 6306802753893
Option 3 1D : 6306802753895
Option 4 1D : 6306802753894
Status : Answered
Chosen Option : 3




Comprehension:

Read the following information carefully and answer the given questions.

Forty-five per cent of India's children are stunted and 600,000 children under five die
each year, largely because of inadequate water supply and poor sanitation, reads a
report by UNICEF and Food and Agriculture Organisation (FAO).

One-third of all deaths of children under five years of age in India are due to diarrhoea
and pneumonia. Many more children who survive have weakened immune system
because of diarrhoea, pneumonia, malaria, and worm infestations, and become
underweight and malnourished, which has a severe impact on their learning ability
throughout their lives.

The Central Pollution Control Board's analysis of water quality monitoring results from
1995 to 2009 indicates microbial contamination as the predominant form of pollution
in surface water bodies in India. This has been attributed to two main reasons.

First, the municipal authorities are unable to treat the increasing load of the municipal
sewage due to which may end up contaminating water bodies. Second, the receiving
water bodies may themselves not have adequate water available for dilution. This
severely limits water availability for both humans as well as ecosystem consumption.
Across the world unsafe drinking water and poor sanitation and hygiene are the main
contributors to an estimated four billion cases of diarrhoeal disease, causing more than
1.5 million deaths, primarily among children under five years of age. Although-the
water access figures in India show an increasing trend, access to safe drinking water
remains a challenge in rural areas. About 638 million people in India still defecate in
the open and 67 per cent of Indian households do not treat their drinking water.
Likewise, in urban areas, water supply pipelines and open drainage channels running
side by side put the safety of drinking water at stake.

The report states that while access to improved drinking water sources in India has
increased over the past decade, the tremendous adverse impact of unsafe water on
health continues. Microbial pollution in water is also responsible for the disease
burden, especially due to poor sanitation and hygiene practices. Infectious diseases
linked to water can be categorised as waterborne, water-related, water-based and
water-washed diseases.

These pathogenic organisms are transmitted mostly due to contaminated water,
improper sanitation and poor hygiene practices exacerbated by large volumes of
untreated sewage generated daily in major cities. In the rural areas, due to the
widespread practice of open defecation (69 per cent of the rural population defecates
in open) and poor operation and maintenance of water sources, microbial
contamination occurs in surface and.groundwater bodies.

Also, approximately 74 per cent of.the rural population does not use any water
disinfection method. An earlier report by McKenzie and Ray show that India loses 90
million days a year due to water-borne diseases. Poor health due to inadequate
sanitation is also an economic burden.

SubQuestion No : 66

Q66 What can be the suitable title for the given passage?

Ans

& 1. Children and malnutrition

« 2. Unsafe water stunting growth of Indian children
X 3. Good sanitation and hygiene failures

X 4. Is drinking water safe in India?

Question ID

: 630680703041




Option 11D :
Option 2 1D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

6306802753915
6306802753912
6306802753913
6306802753914
Answered

1




Comprehension:

Read the following information carefully and answer the given questions.

Forty-five per cent of India's children are stunted and 600,000 children under five die
each year, largely because of inadequate water supply and poor sanitation, reads a
report by UNICEF and Food and Agriculture Organisation (FAO).

One-third of all deaths of children under five years of age in India are due to diarrhoea
and pneumonia. Many more children who survive have weakened immune system
because of diarrhoea, pneumonia, malaria, and worm infestations, and become
underweight and malnourished, which has a severe impact on their learning ability
throughout their lives.

The Central Pollution Control Board's analysis of water quality monitoring results from
1995 to 2009 indicates microbial contamination as the predominant form of pollution
in surface water bodies in India. This has been attributed to two main reasons.

First, the municipal authorities are unable to treat the increasing load of the municipal
sewage due to which may end up contaminating water bodies. Second, the receiving
water bodies may themselves not have adequate water available for dilution. This
severely limits water availability for both humans as well as ecosystem consumption.
Across the world unsafe drinking water and poor sanitation and hygiene are the main
contributors to an estimated four billion cases of diarrhoeal disease, causing more than
1.5 million deaths, primarily among children under five years of age. Although-the
water access figures in India show an increasing trend, access to safe drinking water
remains a challenge in rural areas. About 638 million people in India still defecate in
the open and 67 per cent of Indian households do not treat their drinking water.
Likewise, in urban areas, water supply pipelines and open drainage channels running
side by side put the safety of drinking water at stake.

The report states that while access to improved drinking water sources in India has
increased over the past decade, the tremendous adverse impact of unsafe water on
health continues. Microbial pollution in water is also responsible for the disease
burden, especially due to poor sanitation and hygiene practices. Infectious diseases
linked to water can be categorised as waterborne, water-related, water-based and
water-washed diseases.

These pathogenic organisms are transmitted mostly due to contaminated water,
improper sanitation and poor hygiene practices exacerbated by large volumes of
untreated sewage generated daily in major cities. In the rural areas, due to the
widespread practice of open defecation (69 per cent of the rural population defecates
in open) and poor operation and maintenance of water sources, microbial
contamination occurs in surface and.groundwater bodies.

Also, approximately 74 per cent of.the rural population does not use any water
disinfection method. An earlier report by McKenzie and Ray show that India loses 90
million days a year due to water-borne diseases. Poor health due to inadequate

sanitation is also an economic burden.

SubQuestion No : 67

Q.67 What is the synonym of the word-‘inadequate’ as used in the passage?

Ans

X 1. Supplement

X 2. Bountiful
X 3. Amicable
« 4. Scanty

Question ID

: 630680703045




Option 11D :
Option 2 1D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

6306802753929
6306802753928
6306802753930
6306802753931
Answered

2




Comprehension:

Read the following information carefully and answer the given questions.

Forty-five per cent of India's children are stunted and 600,000 children under five die
each year, largely because of inadequate water supply and poor sanitation, reads a
report by UNICEF and Food and Agriculture Organisation (FAO).

One-third of all deaths of children under five years of age in India are due to diarrhoea
and pneumonia. Many more children who survive have weakened immune system
because of diarrhoea, pneumonia, malaria, and worm infestations, and become
underweight and malnourished, which has a severe impact on their learning ability
throughout their lives.

The Central Pollution Control Board's analysis of water quality monitoring results from
1995 to 2009 indicates microbial contamination as the predominant form of pollution
in surface water bodies in India. This has been attributed to two main reasons.

First, the municipal authorities are unable to treat the increasing load of the municipal
sewage due to which may end up contaminating water bodies. Second, the receiving
water bodies may themselves not have adequate water available for dilution. This
severely limits water availability for both humans as well as ecosystem consumption.
Across the world unsafe drinking water and poor sanitation and hygiene are the main
contributors to an estimated four billion cases of diarrhoeal disease, causing more than
1.5 million deaths, primarily among children under five years of age. Although-the
water access figures in India show an increasing trend, access to safe drinking water
remains a challenge in rural areas. About 638 million people in India still defecate in
the open and 67 per cent of Indian households do not treat their drinking water.
Likewise, in urban areas, water supply pipelines and open drainage channels running
side by side put the safety of drinking water at stake.

The report states that while access to improved drinking water sources in India has
increased over the past decade, the tremendous adverse impact of unsafe water on
health continues. Microbial pollution in water is also responsible for the disease
burden, especially due to poor sanitation and hygiene practices. Infectious diseases
linked to water can be categorised as waterborne, water-related, water-based and
water-washed diseases.

These pathogenic organisms are transmitted mostly due to contaminated water,
improper sanitation and poor hygiene practices exacerbated by large volumes of
untreated sewage generated daily in major cities. In the rural areas, due to the
widespread practice of open defecation (69 per cent of the rural population defecates
in open) and poor operation and maintenance of water sources, microbial
contamination occurs in surface and.groundwater bodies.

Also, approximately 74 per cent of.the rural population does not use any water
disinfection method. An earlier report by McKenzie and Ray show that India loses 90
million days a year due to water-borne diseases. Poor health due to inadequate

sanitation is also an economic burden.

SubQuestion No : 68

Q.68 Identify the correct statement(s) from the following.

Ans

1. 45% of India’s children are stunted due to inadequate water supply and poor sanitation.
II. More than 60% of Indian households do not treat their drinking water.

III. Around 74% of the rural population doesn't utilize any water sanitization strategy.
A 1. T and III

X2 TandII

X 3. Only III




« 4. LII and IIT

Question ID :

Option 11D :

Option 2 ID

Status :

Chosen Option :

630680703043
6306802753922

: 6306802753920
Option 31D :
Option 41D :

6306802753921
6306802753923
Answered

2




Comprehension:

Read the following information carefully and answer the given questions.

Forty-five per cent of India's children are stunted and 600,000 children under five die
each year, largely because of inadequate water supply and poor sanitation, reads a
report by UNICEF and Food and Agriculture Organisation (FAO).

One-third of all deaths of children under five years of age in India are due to diarrhoea
and pneumonia. Many more children who survive have weakened immune system
because of diarrhoea, pneumonia, malaria, and worm infestations, and become
underweight and malnourished, which has a severe impact on their learning ability
throughout their lives.

The Central Pollution Control Board's analysis of water quality monitoring results from
1995 to 2009 indicates microbial contamination as the predominant form of pollution
in surface water bodies in India. This has been attributed to two main reasons.

First, the municipal authorities are unable to treat the increasing load of the municipal
sewage due to which may end up contaminating water bodies. Second, the receiving
water bodies may themselves not have adequate water available for dilution. This
severely limits water availability for both humans as well as ecosystem consumption.
Across the world unsafe drinking water and poor sanitation and hygiene are the main
contributors to an estimated four billion cases of diarrhoeal disease, causing more than
1.5 million deaths, primarily among children under five years of age. Although-the
water access figures in India show an increasing trend, access to safe drinking water
remains a challenge in rural areas. About 638 million people in India still defecate in
the open and 67 per cent of Indian households do not treat their drinking water.
Likewise, in urban areas, water supply pipelines and open drainage channels running
side by side put the safety of drinking water at stake.

The report states that while access to improved drinking water sources in India has
increased over the past decade, the tremendous adverse impact of unsafe water on
health continues. Microbial pollution in water is also responsible for the disease
burden, especially due to poor sanitation and hygiene practices. Infectious diseases
linked to water can be categorised as waterborne, water-related, water-based and
water-washed diseases.

These pathogenic organisms are transmitted mostly due to contaminated water,
improper sanitation and poor hygiene practices exacerbated by large volumes of
untreated sewage generated daily in major cities. In the rural areas, due to the
widespread practice of open defecation (69 per cent of the rural population defecates
in open) and poor operation and maintenance of water sources, microbial
contamination occurs in surface and.groundwater bodies.

Also, approximately 74 per cent of.the rural population does not use any water
disinfection method. An earlier report by McKenzie and Ray show that India loses 90
million days a year due to water-borne diseases. Poor health due to inadequate

sanitation is also an economic burden.

SubQuestion No : 69

Q.69 How municipal authorities are responsible for microbial contamination?

Ans

wal

They are unable to treat the expanding heap of the civil sewage resulting in defiling water bodies.

x 2.

The receiving water bodies do not have adequate water available for dilution.

x 3.

The strategy of running of water supply pipelines and open drainage channels together cited by them.




X 4.

Authorities are poorly operating and maintaining the water sources in the cities.

Chosen Option

Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 ID :

Status :

630680703044

6306802753926
6306802753924
6306802753927
6306802753925

Answered

: 3




Comprehension:

Read the following information carefully and answer the given questions.

Forty-five per cent of India's children are stunted and 600,000 children under five die
each year, largely because of inadequate water supply and poor sanitation, reads a
report by UNICEF and Food and Agriculture Organisation (FAO).

One-third of all deaths of children under five years of age in India are due to diarrhoea
and pneumonia. Many more children who survive have weakened immune system
because of diarrhoea, pneumonia, malaria, and worm infestations, and become
underweight and malnourished, which has a severe impact on their learning ability
throughout their lives.

The Central Pollution Control Board's analysis of water quality monitoring results from
1995 to 2009 indicates microbial contamination as the predominant form of pollution
in surface water bodies in India. This has been attributed to two main reasons.

First, the municipal authorities are unable to treat the increasing load of the municipal
sewage due to which may end up contaminating water bodies. Second, the receiving
water bodies may themselves not have adequate water available for dilution. This
severely limits water availability for both humans as well as ecosystem consumption.
Across the world unsafe drinking water and poor sanitation and hygiene are the main
contributors to an estimated four billion cases of diarrhoeal disease, causing more than
1.5 million deaths, primarily among children under five years of age. Although-the
water access figures in India show an increasing trend, access to safe drinking water
remains a challenge in rural areas. About 638 million people in India still defecate in
the open and 67 per cent of Indian households do not treat their drinking water.
Likewise, in urban areas, water supply pipelines and open drainage channels running
side by side put the safety of drinking water at stake.

The report states that while access to improved drinking water sources in India has
increased over the past decade, the tremendous adverse impact of unsafe water on
health continues. Microbial pollution in water is also responsible for the disease
burden, especially due to poor sanitation and hygiene practices. Infectious diseases
linked to water can be categorised as waterborne, water-related, water-based and
water-washed diseases.

These pathogenic organisms are transmitted mostly due to contaminated water,
improper sanitation and poor hygiene practices exacerbated by large volumes of
untreated sewage generated daily in major cities. In the rural areas, due to the
widespread practice of open defecation (69 per cent of the rural population defecates
in open) and poor operation and maintenance of water sources, microbial
contamination occurs in surface and.groundwater bodies.

Also, approximately 74 per cent of.the rural population does not use any water
disinfection method. An earlier report by McKenzie and Ray show that India loses 90
million days a year due to water-borne diseases. Poor health due to inadequate

sanitation is also an economic burden.

SubQuestion No : 70

Q.70 India loses how many days a year due to water-borne disease as per McKenzie and Ray report?

Ans

X 1. 74 million
X 2. 1.5 million
X 3. 65 million

« 4 00 million

Question ID
Option 1 ID

: 630680703042
: 6306802753918




Option 2 ID : 6306802753919
Option 31D : 6306802753916
Option 4 ID : 6306802753917
Status : Answered
Chosen Option : 3
Section :Computer Awareness
Q71 Y & rafaild g #1 3a% [9aur & §rg gRfod Hiae|
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Ans X 1.1-1,11-2, 11I-3, IV-4
X 2.1-3, 11-4, 111, IV-2
X 3.1-4,11-3, III-2, IV-1
o 4.1-2 11-3, III-1, IV-4
Question ID : 630680703052
Option 1 ID : 6306802753956
Option 2 ID : 6306802753957
Option 3 ID : 6306802753958
Option 4 ID : 6306802753959
Status : Answered
Chosen Option : 4
Q.72 MS PowerPoint 365 #, TSz of % R fiodl e M o= & v A da a fr =
IqEeT faRar S 32
Ans X 1. Alt + P
X2 N
#3 P
X4 Alt + N
Question ID : 630680703056
Option 1 ID : 6306802753975
Option 2 ID : 6306802753972
Option 3 ID : 6306802753973
Option 4 ID : 6306802753974
Status : Answered
Chosen Option : 1
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Question ID : 630680703053
Option 1ID : 6306802753963
Option 2 ID : 6306802753962
Option 3.ID : 6306802753961
Option 41D : 6306802753960
Status : Answered
Chosen Option : 1
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Question ID : 630680703059
Option 1 ID : 6306802753985
Option 2 ID : 6306802753986
Option 3 ID : 6306802753984
Option 4 ID : 6306802753987
Status : Answered
Chosen Option : 2




Ans o 1. Qutlook
X 2. Gmail
X 3. Zoho

X 4 Yahoo mail

Q75 Grafafld & ¥ Fi9 W AEFETE gaN SAT BiEE dEEst §7

Question ID : 630680703054
Option 1 ID : 6306802753965
Option 2 ID : 6306802753964
Option 3 ID : 6306802753967
Option 4 ID : 6306802753966
Status : Answered
Chosen Option : 1
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Question ID : 630680703055
Option 11D : 6306802753968
Option 2 ID : 6306802753970
Option 3 ID : 6306802753969
Option 4 ID : 6306802753971
Status : Not Answered
Chosen Option : --
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Ans X 1. B0
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Question ID
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

: 630680703051
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Question ID : 630680703057

Option.1 1D : 6306802753977
Option 2 ID : 6306802753979
Option 3 ID : 6306802753976
Option 4 ID : 6306802753978

Status : Not Answered

Chosen Option : --
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Ans 1. Alt + Home
X2 Tab + Home
X 3. Shift + Home
X4 Ctrl + Home

Question ID : 630680703058

Option 11D : 6306802753980

Option 2 ID : 6306802753983

Option 3 ID : 6306802753982

Option 4 ID : 6306802753981
Status : Answered

Chosen Option : 4




Q80 U TLHY. F TH I HUF AGHTH T @ o Thal § o FET ST §

As 1 E8rErtE Wik
X 2. FIFEATR
X 3. ATSHIYEET
X 4 HfeeT Reew

Question ID : 630680703050
Option 1 ID : 6306802753948
Option 2 ID : 6306802753951
Option 3 1D : 6306802753950
Option 41D : 6306802753949
Status : Answered
Chosen Option : 3
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Question ID : 630680703096
Option 11D : 6306802754135
Option 2 ID : 6306802754134
Option 3 ID : 6306802754132
Option 4 ID : 6306802754133
Status : Not Answered
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Question ID :

Option 11D :

Option 2 ID
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Status :

Chosen Option :

630680703074
6306802754044

: 6306802754046
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Option 41D :

6306802754045

Not Answered
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Question ID

Option 3 ID

Status :

Chosen Option :

: 630680703085
Option 11D :
Option 21D :

6306802754089
6306802754091

: 6306802754088
Option 41D :

6306802754090

Not Answered
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Question ID : 630680703099
Option 11D : 6306802754146
Option 2 ID : 6306802754144
Option 3 ID : 6306802754147
Option 4 ID : 6306802754145
Status : Not Answered

Chosen Option : --
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Question ID : 630680703083
Option 1 ID : 6306802754080
Option 2 ID : 6306802754082
Option 3 ID : 6306802754083
Option 4 ID : 6306802754081
Status : Not Answered

Chosen Option : --
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Question ID :
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Chosen Option :

630680703082
6306802754076
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6306802754079

: Not Answered

Q87 3efy gar & A T U= F At F = F FOT FT FAT FET AT £

Ans

v 9T T
X 2. e T
X 3. gforg @ioT
X*%&fﬁw

Question ID

Option 4 ID

Status :

Chosen Option :
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Option 11D :
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Option 31D :

6306802754140
6306802754142
6306802754141

: 6306802754143

Not Answered




Q.88 FHNT & Hd H U&F TURE TAE 4 & &C i @7 e &Far Jrar 27

Ans

X1 orféaT
X 2. gifar
X 3. gfaer

& 4 RigET

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

630680703093
6306802754120
6306802754122
6306802754123
6306802754121

Not Answered

Q.89 =T § @ Fi9 & F==T Aread 37 9 W e & oW Fa8 oF fide= (cooling) 2T 5e1=

Ans

FLEm?

1. qraT
X2 e
X3.EI'I'-E

X b

Question ID :

Option 11D :

Option 2 ID

Status :

Chosen Option :

630680703081
6306802754074

1 6306802754075
Option 31D :
Option 4 ID :

6306802754073
6306802754072

Not Answered




Q90 oftz Feet FA FH Wex O F 39TT frw FROT AT Fmar ¥
Ans X1 TSI F TH | A58 A F o0

X 2. TP Fed & o

v BT Y ags g F & # A FE F B
X4 B AeaHe ¥ e fFuw 5= & e

Option 2 ID

Question ID :

Option 11D :

Status :

Chosen Option :

630680703086
6306802754092

1 6306802754093
Option 31D :
Option 4 1D :

6306802754095
6306802754094

Not Answered

Q.91 FTHIH F gAT FAT /Y F W & ¥ v 5 wermw 3o 1 3w s 22

Ans

v TIEEH

X2 FIHIOT FAH

X 5. TraffAa Te(Steady rest)
74 R

Option 3 ID

Question ID :
Option 11D :
Option 2 ID :

Status :

Chosen Option :

630680703092
6306802754119
6306802754116

: 6306802754118
Option 41D :

6306802754117

Not Answered




Q.92 FF T &= 39T I T F T €3 T TF H A= F v FemEs fewr mr 2

Ans x1m
X 2. Fall gAY

v 5 Feiegs FhEmal

X 4 o

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

630680703064

6306802754007
6306802754005
6306802754004
6306802754006

Not Answered

Q93 g8 # FFEEIAT T aTof T & ASA & [T Hled AN 30T FoH 3997 &7

Ans X 1. ELI’H:{_"-EEET
v 2. Tae Fr (key)
X 5. Tosfercw Epgmar

X4 T gET

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

630680703066

6306802754013
6306802754015
6306802754012
6306802754014

Not Answered




Q.94 =T Sk & ghve Ferar giafean &= & BT sftwy mshi s & BFE TR #1 3mE g
Exd

Ans X 1. 3eadd (Convex)
X 2. HAada (Concave)

Vo wE

X 4 Beprofa
Question ID : 630680703062
Option 1 ID : 6306802753998
Option 2 ID : 6306802753997
Option 3 ID : 6306802753999
Option 41D : 6306802753996
Status : Not Answered
Chosen Option : --
Q.95 gt a1 Famt e 3=l & RiFas = + Tw Bt 3R EFAT T4 TW@H H A
T 2
Ans X 3fTsfereT
X 2. ofEar
X3 gefeger
4 qmafaeT

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

630680703063
6306802754003
6306802754000
6306802754002
6306802754001

Not Answered




Q.96 U TiteT UEl o che o FAerRor e A, geh fher A & @ fvgest suain &wm?
Ans X 1. ATSHIATET

v 72 HeT T

X3 gy I

X4 oAy a9

Question ID : 630680703060
Option 11D : 6306802753991
Option 2 ID : 6306802753988
Option 3 ID : 6306802753989
Option 41D : 6306802753990
Status : Not Answered

Chosen Option : --

Q97 FF T FoFAIE FET g Ho=r TBY I FAvanst F e F=r FJEr 32
Ans X1 Y grEEIeT

X 2. #lig o

X 5. TITEA

v . Heelitateh

Question ID : 630680703078
Option 1 ID : 6306802754062
Option 2 ID : 6306802754060
Option 3 ID : 6306802754061
Option 4 ID : 6306802754063
Status : Not Answered

Chosen Option : --




Q% FreE g HesSRET 7 & T ST Ferwar = 82
e TE gEE TS @ e

X 2 38 et drest $r TTear FE ¢

X 3. g TS & 39T TET AT B

X 4 IE Seelaaad feom &

Question ID : 630680703088
Option 11D : 6306802754100
Option 2 ID : 6306802754102
Option 31D : 6306802754103
Option 4 ID : 6306802754101
Status : Not Answered

Chosen Option : --

Q.99 T | &Y e =W H AT Feerdr ovd = & ow vgr ¥ & 7 v ow B ar awn e
&

Ans X 1. grfsar
K2 ¥y e
« 3 T
xu.%ﬁ'vr

Question ID : 630680703094
Option 11D : 6306802754126
Option 2 ID : 6306802754127
Option 31D : 6306802754124
Option 4 ID : 6306802754125
Status : Not Answered

Chosen Option : --




Q10 U FTATET STAT Sf3heT H, Toall d FHeiiel giar 272

Ans

v & gag ) T A W
X2 v RAEg a9A TF TH W
X3 TH JEhIT 8T F TH @A T

X4 gepel F TOH H A W

Question ID :
Option 11D :
Option 21D :
Option 3 ID :
Option 4 1D :

Status :

Chosen Option :

630680703069

6306802754026
6306802754027
6306802754024
6306802754025

Not Answered

Q.101 ¥rger 3T F #1 FHET 7= & v BFH TR F Fe F1 3990 AAET: TFar = 27

Ans

X 1. Z9eT €
X2 3% THY &
X3 aTEesS #E
v 4 fEETer FeE

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 41D :

Status :

Chosen Option :

630680703072

6306802754037
6306802754038
6306802754039
6306802754036

Not Answered




Q.102 &\ v #r 3fese # e AR T aR e 3R IRTE (shielding) W T 3wEEr T S
&2

Ans

X 3R afeser

X2 =g &\ 3feET

X 3 gdor AfeEeT
v 4 MIG afegeT

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

630680703075
6306802754050
6306802754051
6306802754048
6306802754049

Not Answered

Q.103 &\ ¥oR % d55 & 3990 u1g F & $FE F TNE FASOT W w5 F e G e 5w oo

Ans

g o & Rt = g B
v . fhele Sise
X2 TS HAse
X3 &-des

X4 gT Jo=

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

630680703077

6306802754058
6306802754056
6306802754057
6306802754059

Not Answered




Q.104 T=ffaT & & 0 vea & TF HUOER FE-FFE § AR S 3T IEET e o F
fore o =mar §7

Ans X1 forEer wIEe
X 2. gTH-U3e3 Wgel
v 3 FT IS
X 4 TFAT WIS

Status

Question ID :
Option 11D :
Option 21D :
Option 3 1D :
Option 4 1D :

Chosen Option :

630680703071

6306802754034
6306802754032
6306802754033
6306802754035

: Not Answered

Q.105 T gea 1 TAET oA ¥ AT ReTeE I9H0T H 39T S TAT, Jod 1 F e E B
el T 37

Ans X 1. FET F FF
X 2. ged w1 AL foRema
v o & oFE & d & Jeaiag

X 4 T I H FE

Question ID

Status

Chosen Option :

: 630680703061
Option 11D :
Option 2 ID :
Option 31D :
Option 41D :

6306802753993
6306802753992
6306802753994
6306802753995

: Not Answered




Q.106 T e 3R TEg FT FoRaT 7 TEH F T A F g H AT o 9 & Fo32em
EX

Ans X1 FTHeS T

v 2. FArgarsfEeT
X3 faefar
X4 FafyEr

Question ID

Option. 4 1D

Status :

Chosen Option :

: 630680703080
Option 11D :
Option 2 ID :
Option 31D :

6306802754069
6306802754068
6306802754071

: 6306802754070

Not Answered

Q.107 urg & e ofiet & s F v Fa @ afeger sfrar AW w9 § 3977 772

Ans

X 1. geor afegeT
v 2 TIG afe=eT
X 3 rarer AfeEeT

X 4 offe2g Aol N afeseT

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

630680703076

6306802754055
6306802754052
6306802754053
6306802754054

Not Answered




Q.108 Raféer gfrar I = & T g feewfofa & & frmdr sitg #r S arfge?
Ans o1 TRl o HESE HEN HI ASEAT I
X2 R@T F araaw #ir

X 3 ofy@er & agAT FHr
X 4 FHAY FT FIETAT

Question ID : 630680703091
Option 11D : 6306802754114
Option 2 ID : 6306802754113
Option 3 ID : 6306802754112
Option 4 ID : 6306802754115
Status : Not Answered

Chosen Option : --

Q.109 TdE R & FE= el =-ae= Fie H Tag H SRl & 7o & e Ha ¥ de dedwe [
HIART ST 27

Ans X 1. ﬁ'a-ﬁ?r
& 2. eSS
X3 EEaiyEr
X 4. ATFemetEET

Question ID : 630680703079
Option 11D : 6306802754064
Option 2 ID : 6306802754065
Option 3 ID : 6306802754066
Option 4 ID : 6306802754067
Status : Not Answered

Chosen Option : --




Ans

X HET
X2 &S
X3 anE
gq.ﬁa

Q110 fof@a & ¥ 9 &1 weg & T T & HEeT 95 & &= & g &1 Fafsd e 87

Question ID :

Option 11D
Option 2 ID

Option 31D :
Option 4 1D :

Status

Chosen Option :

630680703097

: 6306802754136
: 6306802754138
6306802754139
6306802754137

: Not Answered

Ans

X1 IH &

X 2. gerehiT (Curved) &

< 5 THeTer Fe
X 4. ZFT FT

Q.111 =& &t wEa & &u ¥ gAY, BT 9Fgat 1 v O 9T &, 8 5% F97 S S 27

Question ID :

Option 11D :

Option 2 ID

Status

Chosen Option :

630680703073
6306802754041

1 6306802754040
Option 31D :
Option 4 ID :

6306802754042
6306802754043

: Not Answered

Ans

X 1. Tl

v 2. giaay FfedT

X3 Trer T
X 4 HATSHIAET

Q112 FFAFR TET F TEY AT F AN F BT Pl T ITHOT TaH 3977 82

Question ID
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

: 630680703067

6306802754016
6306802754017
6306802754019
6306802754018

Not Answered




Q113 gfE Hesy AW T W TR AT T HIHT FAT T T1ge?
Ans X gerfad 819 9T Tl SIETIT
X2 gH3E A & fow ois &, ™ s0 91 3T X o
v gd 38 9 Jodr o

X4 I TW HiesfEr W § U

Option 2 ID
Option 3.I1D

Question ID :

Option 11D :

Status :

Chosen Option :

630680703090
6306802754108

: 6306802754109
1 6306802754111
Option 41D :

6306802754110

Not Answered

Q114 urg o F FfeT 3k Tovsa & T Fia @1 399701 smeTE §, @Ee] 9 T I g
Ans X 1. FRorem

X 2. BhIga

X 3. OHET

V“‘EﬁTﬂ'

Question ID

Option 1 ID

Option 41D :
Status

Chosen Option :

: 630680703084

1 6306802754086
Option 2 ID :
Option 31D :

6306802754087
6306802754085
6306802754084

: Not Answered




Q.115 HeelT smR= & T & 7% = & e B # & G s9eor & s9aer R s 2

Ans

v T TeA
X 2. gresfier O
X s grax BgaT

X 4 Trelard F9T

Question ID :

Option 1 ID

Status

Chosen Option :

630680703087

1 6306802754097
Option 21D :
Option 31D :
Option 4 ID :

6306802754096
6306802754099
6306802754098

: Not Answered

Q.116 % T& aT HeTH HET YA W 3 3N afw 3= X o @ g, & s§ & war = 27

Ans

X Femes
X 2. ShrarsT
X 5 VFIE

yq.g_.ﬂqﬁg

Question ID :

Option 1 ID

Status :

Chosen Option :

630680703068

1 6306802754023
Option 21D :
Option 31D :
Option 4 1D :

6306802754022
6306802754021
6306802754020

Not Answered




Q.117 T=efEa & & g R 3uaRur &1 39T ST & & &1 U35 A% 4 F R G S 3

A X fiwe O
v 2. Fe-drT AT
X3 ET TFEe
X4 g T

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 41D :

Status :

Chosen Option :

630680703089

6306802754104
6306802754106
6306802754105
6306802754107

Not Answered

Q.118 2+ 3YHIUN FT 3YART Fd FHT & I8 e & ¥ frg W R +ar 22

Ans k1. g Ffad faar smer anfge
v 2 FUEIOT 3T FT W FET Far ¥

X 3.

g GARTT Far ¢ & 319 el ST FT 9 & § T8 A &

X4 el T Tgen =nfge

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

630680703065
6306802754009
6306802754010
6306802754011
6306802754008

Not Answered




X 2 oole TIEd
X 3. Brepvia wrEe
o 4. 135 BIgel

Q.119 it & Fafe el & FEa &= & o Mg # @ &9 @ 591 & w5 a90 5999 22

Ans x . WW

Question ID

Option 41D

Status :

Chosen Option :

: 630680703070
Option 11D :
Option 21D :
Option 31D :
: 6306802754031

6306802754029
6306802754028
6306802754030

Not Answered

v SATET 3TEHTOT
X 2. gfeder 39eRoT
X 3. gifer FeoT

X 4 T AT I9RIOT

Q.120 T IFT $1 SAAFR Aag W &Y F ded g9 F v 5y 39ewor F sumer Far s 7

Question ID :

Option 1 ID

Status :

Chosen Option :

630680703095

1 6306802754130
Option 21D :
Option 31D :
Option 41D :

6306802754131
6306802754129
6306802754128

Not Answered

Section :Electrician Trade




Q.121 FT & e o &g & v Gifeq &1 A & T G0 98 FT =T =@y

Ans X 1. STET T THaT

X 2 e T FEE W TH Ak AIMAT
X3 FEA & TAF R Thetehe AT

o 4.
g T Fr TR @A AR =T F TR W A 3 AR @ T

Option 1 ID

Chosen Option

Question ID :

Option 2 ID :
Option 31D :
Option 4 1D :

Status :

630680703111

: 6306802754192

6306802754195
6306802754193
6306802754194

Answered

c 4

Q.122 What is the purpose of using mica insulation in the construction of commutators in DCmachines?
Ans X 1. To increase conductivity

« 2. To prevent arcing and short circuits

X 3. To improve mechanical strength

X 4. To reduce heat generation

Option 11D

Status

Question ID :

Chosen Option :

630680703139

1 6306802754304
Option 21D :
Option 31D :
Option 41D :

6306802754307
6306802754306
6306802754305

: Answered

2




Q.123 DC 73fia &, fgga w=1 # 7ifys F=i F sfafda = & fv w7 @1 ges Seer 2

Ans o1 HTHER
X 2. HFIEH

X 3. ez FEfEw

Au g

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 41D :

Status :

4

Chosen Option

630680703142

6306802754318
6306802754316
6306802754319
6306802754317

Answered

Q12 gaEIfarTe GIAT # "OSHA" &7 & 3y 27
Ans X1 HIEITES AE-3TH TUS gEfenT tuiew
X 2. 3T WHET TUS =i AT Ed
v o HETUIIEE AWE 0T gy vsRfATRE
K 4. HFUAAST FHFT TUS g5 HUTHTT

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

: 3

Chosen Option

630680703128

6306802754262
6306802754261
6306802754263
6306802754260

Answered




Q125 fA9eT T ATIATT T GHFsFeL H Iy fhder gar 82
Ans 1 o Ffare
X 2. Hcgties IREaade gfaie

X3 v TofEg FseeT F 7 A
X4 3T giarreT

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option. 4 ID :

Status :

Chosen Option :

630680703133
6306802754281
6306802754283
6306802754282
6306802754280
Answered

1

Q.126 Which househald appliance uses a compressor to circulate refrigerant and maintain a low temperature inside a closed
space?

Ans X 1. Food processor
X 2. Toaster

X 3 Vacuum cleaner

« 4 Ajr conditioner

Option 4 ID

Question ID :
Option 11D :
Option 2 1D :
Option 31D :

Status :

Chosen Option :

630680703115
6306802754211
6306802754208
6306802754210

: 6306802754209

Answered

4




Q.127 We=lET 3O % WY & a’i # US ¢ U Y 9% s & v BRE 9o @ AiesiiEr dwde a5t
Iz R ST 2

A X1 T-Sifee EresieT
v 2. §€ e HegiT
X 3. frele SEe AesTaT
X 4 o FTST HiesheT

Chosen Option

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

4

630680703118

6306802754220
6306802754222
6306802754223
6306802754221

Answered

Q.128 3 ®fke #1 FT Fg § I umw F Bew 5 e W 3% F vAiRed w4 B AT & €
Ans gz 1. Ela"ﬂﬁa?

X 2. el Hihe

X @Rw afde

X4 FHAAR Bihe

Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

630680703132
6306802754278
6306802754279
6306802754276
6306802754277
Answered

1




Q12 3o gaiteeT WReT # "PEEK" FT Far M g2
Ans X1 Tl Selfeedd TegrtHee &

X 2. grefées sofdewa vaae e

X 3 G gafagee gaFcgeer fe

v 4 OifereT S FrEe

Question ID : 630680703107
Option 11D : 6306802754177
Option 2 ID : 6306802754179
Option 3 ID : 6306802754176
Option. 4 ID : 6306802754178
Status : Not Answered

Chosen Option : --

Q130 ggafesT ARt #& "EPDM" &1 &1 7 &2
Ans X1 TATFgehdl HIcehes STESdliage Heldd
X 2. TAgeEs iefaea garer mefme

X 3 SETERIARS diesl SEsellach Higad
v TfEl Wiveld S AR

Question ID : 630680703104

Option 11D : 6306802754164

Option 2 ID : 6306802754167

Option 3 ID : 6306802754166

Option 4 1D : 6306802754165
Status : Answered

Chosen Option : 1




Q.131 3= fagga a9 &1 o & AT & T Iea-dloest fegga el H ITaT $HT FT awlr mufaw

Ans X1 PVC (dTelifadTeeT Feikiss)
v 2. XLPE (Fra-fores aienedi=)
X 3. EPR (Qf¥relsl 9aeile Ta7)

X 4 T@S
Question ID : 630680703106
Option 11D : 6306802754173
Option 2 ID : 6306802754175
Option 3 ID : 6306802754174
Option4 ID : 6306802754172
Status : Answered
Chosen Option : 2
Q.132 = e =ofem & a7 ge @ & 3R =% wiww, e o i o & e @ st s st
AEw?
A TeSTHIAT
sy 3 Tl AT e yFe (FFeT #ega)
2.

X 2. ZfAehe 3o FLAT

X 3. Zzg drer o T 399 & FFET 33T &

X 4 CPR (Fiffaverad Rafaecs)
Question ID : 630680703108
Option 1 ID : 6306802754181
Option 2 ID : 6306802754183
Option 3 ID : 6306802754182
Option 4 ID : 6306802754180

Status : Answered
Chosen Option : 4




o 2.

Q133 gy #r Rgga Jome # Jees R # wufiE F = 82
Ans X 1. TSRl e & ST Sleed F HH FLAT

Fees & B A AR 3TN F FeeA F 3IR-9EF § T

2 A o

X 3. [&=telr 92 & S JecsT T

X 4.

X . Toega ofed 3o9e HTT
Question ID : 630680703113
Option 1 ID : 6306802754201
Option 2 ID : 6306802754202
Option 8 ID : 6306802754200
Optior4 ID : 6306802754203

Status : Answered
Chosen Option : 2
Q.134 |n a DC machine, what does the term "commutation angle" refer to?
Ans X 1. The angle between the rotor and stator

2.

The angle between the brushes and the commutator segments

X 3. The angle between the armature and the field winding

X 4. The angle between the field winding and the brushes
Question ID : 630680703138
Option 1 ID : 6306802754302
Option 2 ID : 6306802754300
Option 3 ID : 6306802754301
Option 4 ID : 6306802754303

Status : Answered
Chosen Option : 2




Q.135 Which type of lighting technology is known for its energy efficiency and is commonly used in modern household
lighting fixtures?

Ans " 1. Fluorescent
X 2. Incandescent

X 3. Halogen
X 4. Neon

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

630680703117
6306802754217
6306802754216
6306802754218
6306802754219
Answered

1

Q.136 F&IRUT I B & Fr Fa1 A § TwA uig F TG W IS GRIcAS AEaEs Wd, ST
A &, A% vegEhfaas F A 37

Ans 1. TATETSTEET
X 2. &am
X 3. SAHA
X 4 FeFaTEeT

Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

630680703135
6306802754291
6306802754289
6306802754290
6306802754288
Answered

4




Q.137 If a person has a foreign object embedded in their eye, what is the correct first aid response?
Ans X 1. Remove the object immediately

X 2. Rub the eye vigorously to dislodge the object

« 3. Rinse the eye gently with water

X 4. Cover the eye with a bandage

Question ID : 630680703110
Option 11D : 6306802754188
Option 2 ID : 6306802754190
Option 3 ID : 6306802754189
Option 4 ID : 6306802754191
Status : Answered
Chosen Option : 3
Q138 What does the term "ampacity" refer to in electrical engineering?
Ans X 1. Resistance to short circuits
X 2. Voltage drop
« 3. Current-carrying capacity
X 4. Electric potential energy
Question ID : 630680703121
Option 1 ID : 6306802754235
Option 2 ID : 6306802754232
Option 3 ID : 6306802754233
Option 4 ID : 6306802754234
Status : Answered
Chosen Option : 3
Q139 What is the purpose of a voltage tester in electrical work?
Ans X 1. To provide insulation
X 2. To measure electrical resistance
X 3. To generate electricity
« 4. To test for the presence or absence of voltage
Question ID : 630680703124
Option 11D : 6306802754247
Option 2 ID : 6306802754244
Option 3 ID : 6306802754245
Option 4 ID : 6306802754246
Status : Answered
Chosen Option : 4




Q140 fega AT # TR T ERENT" W F FAT AT 87
Ars . et % Taege SRty @ faeemor
X 2. Zolfdgeh Woldl ST THF T [G2oguT
¢3.mﬁﬁrﬁ§?mﬁﬁaﬂﬁﬁmm
x . Tegd IO $ gaTaT F freewor

Question ID

Option 4 ID

Chosen Option

Option 2 ID :
Option 3 ID :

Status :

: 630680703127
Option 11D :

6306802754258
6306802754256
6306802754257

: 6306802754259

Answered

13

Q141 = FofFeF 1T &ex &, IF & 3T 7o N T T F v A 7 veF TR @ 7
Ars X . TAE TiE

X2 amfeee

X3 S

v g e

Option 1 ID

Status

Chosen Option

Question ID :

630680703116

1 6306802754215
Option 2 1D :
Option 31D :
Option 4 ID :

6306802754214
6306802754213
6306802754212

: Answered

14




Q142 gy fordr =i 1 S 1 31gera & & AT FAT FAT ART?

Ans o 1.
e ¥ F9S & AT 3% -G F 8T FH FH HAT AN 3% O F FUF AT

%2 feeet-ges & Aoe F T 377 gEe &

x 3.
S @ Fed B WA & o0 3% Ag H U TA TG

X 4 Frg 9T e

Question ID :
Option. 11D :
Option 2 ID :
Option 31D :
Option 41D :

Status :

Chosen Option :

630680703112
6306802754198
6306802754196
6306802754197
6306802754199
Answered

1

Q.143 What does the term "Hazardous Area Classification” refer to in electrical safety?

Ans o 1.
The categorization of areas based on the presence of flammable gases or dust

X 2. The calculation of electrical power

X 3. The assessment of electrical resistance inconductors

X 4. The process of identifying electrical hazards

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

630680703126
6306802754253
6306802754255
6306802754254
6306802754252
Answered

4




Qe et wfde 7 ega o &1 327 7 &7

Ans X 1. DC &r AC H sgor=T

o 2.
f-F i 7T &7 3991 F3 3==9-5iC Hiee # FIg F==r

X3.Walﬁﬁﬁm
X 4. gieRreT §E=T

Question ID : 630680703123

Option 11D : 6306802754241
Option 2 ID : 6306802754242
Option 3 ID : 6306802754243
Option 4 ID : 6306802754240

Status : Answered

Chosen Option : 2

Q.145 38 we % forw eeg @47 & =g DC #efie & wwr &m0 sW & v Frgger Yovic & #u @ & #7

Ans X 1. orerfyaT
X2 s
X 5. feafr
v gt

Question ID : 630680703141

Option 11D : 6306802754314

Option 2 ID : 6306802754312

Option 3 ID : 6306802754313

Option 4 ID : 6306802754315
Status : Answered

Chosen Option : 4




Q.146 TH Fieer Tike F, BFET® F Aves FE (KVL) T F iR 7% wafFaea 97 W & o6 @ar
b

Ans X 1. ST ] BT g, Afehet shael Sfaral arer ofdr W

X 2.
Fefe SAFATT T W A FE A g, FIA W WHE W A & §
o 3.
FTAA AL 2T &, HR TeF o & $R Ao H AT LT F WA g AT
X 4.
Question ID :
Option 11D :
Option.2 ID :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680703130
6306802754270
6306802754268
6306802754269
6306802754271

Not Answered

Q.147 ¥ 399 9T FggT AP F FROT Wi ¥ AR Frafiow #F e s F ww A
FHAET AT T 3T HHAR 9 R ST §2

Ans X1 Hefellat 99T

X 2. PVC (deifaaser Fss)
v 3 TR ZFETFNSS (SF6)

X4 TEg

Chosen Option

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 41D :

Status :

13

630680703103

6306802754163
6306802754161
6306802754160
6306802754162

Answered




Q.148 JaHrg seax feer i 3@ e & &9 F For A Fw Fgq § O For & Feaw gé w2

Ans

5 1. gahma (Inclination)

X 2. fa=ge™ (Deviation)

& 3. 1A (Declination)
X 4. fITROT (Convergence)

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

630680703136
6306802754293
6306802754294
6306802754292
6306802754295
Answered

2

Q.149 Which electrical parameter represents the rate at which electrical energy is consumed or delivered in a circuit?

Ans

« 1. Power
X 2. Current
# 3. Resistance

X 4. Voltage

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

630680703122
6306802754238
6306802754237
6306802754239
6306802754236
Answered

1




Q10 g graT # "EwEfene oaeg & F4r 3 37

Ans X1.ﬁa@__§rqﬁﬂ%ra:rm

o 2.

WA F&T MM I FT@TT A o [T TaToll & e &l 39T

X 3 FERRONT HWiat ¥ fagga semes
x «. faega wfee @ e

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status

Chosen Option :

630680703129

6306802754264
6306802754265
6306802754267
6306802754266

: Not Answered

E

Q.151 T 7R F1 Teshie s3mua o7 30 § 3oR # aar § Hy 92 e ik el FEns = F

fore o g 27
Ans X 1. igamdR &g (Conical tip)
X 2. TRgER UFRd & (Screwdriver tip)
& 3. &1 feT (Chisel tip)
X 4. diées ffu (Pointed tip)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option

630680703119

6306802754224
6306802754225
6306802754226
6306802754227

Answered

03




Q.152 I felr = i vostt SRk (cAfirai=as) #1 3T & T &, & STy @ S 3TE FT &
afgw?

Ans 1 oiRfET (TEATTS )
K2 gferane®

X3 verfas aferan

X 4 oderareEs
Question ID : 630680703109
Option 11D : 6306802754186
Option 2 ID : 6306802754185
Option 3 ID : 6306802754187
Option 4 1D : 6306802754184

Status : Answered
Chosen Option : 1
Q.153 AZHET A H, FiF T U HIa T I AFHET F 3cHAT HIdT 27
Ans X1 gTaTS

v 2 HIAT

X3 TTHHHT

x4 FafaeT
Question ID : 630680703114
Option 11D : 6306802754206
Option 2 ID : 6306802754204
Option 3 ID : 6306802754205
Option 4 1D : 6306802754207

Status : Answered
Chosen Option : 2




Q154 ;qﬁgﬁq-rwﬁ', "MSDS" &FT FIT AdeT g7
Ans o FTTe J9ET SreT ofie
X 2. AT TS FesiEr AT
X 5. Hraas desie Basw Wik
X4 Pea aftha e it

Question ID :
Option 11D :
Option 2 ID :
Option 3 ID :
Option. 4 ID :

Status :

Chosen Option :

630680703120
6306802754228
6306802754230
6306802754229
6306802754231

Not Answered

Q155 iy AT fagga e Jies "ol © 3= dlecsr” H ST FLaT g7

ANs & O TRe HIT HIEETg
X 2. U FaTeT

X3 s Froy
X4 vk el # 1 aee

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 41D :

Status :

Chosen Option :

630680703125
6306802754249
6306802754251
6306802754250
6306802754248
Answered

1




Ans

X 1. To regulate field current
« 2. To adjust brush tension

X 3. To reverse armature rotation

X 4. To clean the commutator

Q156 What is the primary function of the brush rocker arm in a DC machine?

Question ID :

Option 11D :

Option 2 ID
Option 3 ID

Status :

Chosen Option :

630680703140
6306802754311

: 6306802754308
1 6306802754310
Option 4 ID :

6306802754309
Answered

2

Ans

X 1. Skidding
X 2. Slipping
« 3. Stalling

X 4. Stuttering

Q.157 What is the term for the phenomenon where a DC motor fails to start due to excessive mechanical resistance or load?

Question ID :
Option 11D :

Option 2 ID

Status :

Chosen Option :

630680703137
6306802754298

1 6306802754297
Option 31D :
Option 41D :

6306802754296
6306802754299

Not Answered

Ans v I (STE)

X2 ofgar
X 3. HTFOTSS
Ko arferer

Q158 Sy % HETRUT H Telg 9T qofet FTol ol-21 Ters FT FHgellal 87

Question ID :

Option 1 ID
Option 2 1D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

630680703134

: 6306802754284

6306802754286
6306802754287
6306802754285
Answered

1




Q.159 What is the term for the process of subjecting insulating materials to high temperatures to remove moisture and
improve their electrical properties?

Ans X 1. Sintering

X 2. Vitrification
« 3. Baking
X 4. Curing

Option 41D

Question ID :
Option 11D :
Option 21D :
Option 31D :
1 6306802754169
Status :

Chosen Option :

630680703105
6306802754168
6306802754170
6306802754171

Not Answered

Q.160 3% UeaT % [T oeg &7 § g1 U ol & Wid O/ o1 fo@ gaha sarg # afiaas & e &
¥ S 5 oo e B2

As . SreaT T TaTH
X 2. MTew QIoT
X 3 HTIEr 9IoT
X4 e T e

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

630680703131
6306802754274
6306802754273
6306802754272
6306802754275
Answered

1

Section :Electronics Trade




Q161 HresTaT R #r "arTAT FaEer giaer & 3= v 87

Ans X gresfiET & gHT & g e
X 2. Hresy §=T & BfeatEa e

o 3.

fafee= Fresier &t & BT g & gaEoEe 5=
X 4 gresT yaTg = Fuflg

Question ID :
Option 11D :
Option 2 ID :
Option 3 ID :
Option4 ID :

Status :

Chosen Option :

630680703153
6306802754363
6306802754362
6306802754360
6306802754361

Not Answered

Q162 gAGH B F A oA g TF AC ega FEIRG e Fr IR A F Fad &2
Ans X 1. gfaETenm (Impedance) #AfEeT

X 2. Zhael gade (Amplification)

v o gre-dleed TraEfaa

X 4 or-dees TraETAYH

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

630680703176

6306802754454
6306802754455
6306802754453
6306802754452

Not Answered




Q163 Fr % sfiaT Fgga T 39w LA AT THATF IHAT HI FAT FHgl AT 87

Ans 1. ﬁ?{gﬁ'{mmﬁmm

X 2 FrErege
X 3. TS
X o fredere

Question ID :
Option 11D :
Option 2 1D :
Option 3 ID :

Option4 ID

Status :

Chosen Option :

630680703146

6306802754334
6306802754333
6306802754332

: 6306802754335

Not Answered

Q164 Fy FAT JUTSr H T I TTTF 7 3537 FA1 82
Ans X1 it Sl & araATe i Fata s
X2 @iy Far FF R & oiEag s

« 3.

it ST ¥ 8T8 I e IR e # FfaufET FEr

X o gy & wfafleEa F=T g9da :E

Question ID :
Option 11D :
Option 21D :
Option 31D
Option 41D :

Status :

Chosen Option :

630680703162
6306802754399
6306802754396

: 6306802754398

6306802754397

Not Answered




Q.165 &8 TR F1 HifewHer Faact MASR W Wer-AlE Ggat Faaem & 392097 T =mar § 3 s
-gA FAferT aF T FER R F Boma & fw e s §e

Ans X1 ST (Fee fem)
2. SC (TeHFSaT Fage)
X3 LC (7gHE aee)
X 4. MTP/MPO (Fedael-TgaT Jer-3Te/Jel-31)

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option4 1D :

Status

Chosen Option :

630680703169

6306802754426
6306802754425
6306802754424
6306802754427

: Not Answered

Q.166 gael-frem TIT Fe@ & HAGR W g ard=rers gerey &1 39T &R Srar 272
Ans K. fafeeRTa (Si)

v 2 wAThE Ao (a-Si)

X 3. Y SEIA Ao Fe=rss (CIGS)

X o Hformm wmdaTEE (GaAs)

Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 ID
Status :

Chosen Option :

630680703160
6306802754388
6306802754391
6306802754390

: 6306802754389

Not Answered




Ans X 1. ISR TelfseT
X 2 siftemer feraor
v R . .
X 4 TRITer gEgerT

Q.167 3 T H FAT FaT ST & 6T T Feal # F8 Hicche [QITe T gHL & HY $elhak 3 87

Question ID :

Option 11D :

Option 2 ID
Option 3 ID

Status :

Chosen Option :

630680703168
6306802754421

1 6306802754422
1 6306802754420
Option 41D :

6306802754423

Not Answered

Q168 "rrEaY Hiftes TewgueT” @ 32 FT g7
Ans X1 geT gt F1fa S §eET
v 2. sifteder Bvae Fr dfigar = F7 Far
X 3 yiferer e Fr Fg=T
X 4. GIEEY @ A3 Fr e A U F

Question ID :

Option 11D :

Option 2 ID
Option 3 ID
Option 4 ID

Status :

Chosen Option :

630680703167
6306802754417

: 6306802754418
: 6306802754416
: 6306802754419

Not Answered




Q169 noiir TATA" ofeg fohEd TafoT 22
Ans )1 @iy T a9

v 2 9y s &F # gt B F=0
X 3 gy e T
X 4 F@iT I ZaTar

Question ID

Option 3 ID
Option. 4 1D

Status :

Chosen Option :

: 630680703161
Option 11D :
Option 21D :

6306802754395
6306802754394

: 6306802754392
: 6306802754393

Not Answered

Ans X 1. H StedsT 319
X 2. 3= gIT-dg &THA
v 3eddd EMI gT&Tm

X 4 FHH TH

Q170 Rre2E AC Fa &7 39T Fld & TATHF o] FT 87

Question ID

Option 4 ID

Status :

Chosen Option :

: 630680703177
Option 11D :
Option 21D :
Option 31D :

6306802754459
6306802754457
6306802754458

: 6306802754456

Not Answered




U7 g 7 e w1 i@ w1 Fr 2

Ans X1 @l & BET HLAT
o 2.

HFRIcHF 3 FFHRIcHF TAFIS & S T T9F F Uepall
X 3. gy #Y &THAT FEET
X 4 el der T

Status

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :

Chosen Option :

630680703145
6306802754329
6306802754330
6306802754331
6306802754328

: Not Answered

Q.172 T8 SR & siee)-gemiioms 39a0T weafts quRRd it GEea g S H % o RerE
o T &7

Ans X 1. JeRTeT 3cHeTS SIS (TETRE)
2. oIFT T
X3 prRIEEF
X 4 s

Option 2 ID
Option 3 ID

Question ID :

Option 11D :

Status :

Chosen Option :

630680703175
6306802754448

1 6306802754449
1 6306802754451
Option 4 ID :

6306802754450

Not Answered




Ans

3T Fr A

X Rresg e
v 2. TATET Fael
X s RS Fee
X 4 OrgT Heel

Q.173 8 TR #r AC Faw 3oen == d5famy ¥ Rv anh e § AR smel W e gafies sgwEet &

Question ID :

Option 11D
Option 2 ID

Status :

Chosen Option :

630680703178

1 6306802754462
1 6306802754460
Option 31D :
Option 41D :

6306802754461
6306802754463

Not Answered

Q.174 R # SIAeR TRZTFAR T T IT 87

Ans X0 SraresiiE uew

X 2. greest AT
X 3 X AT

v BIE T # HEF T H FHEAT AT I AT

Question ID

Option 3 ID
Option 41D :
Status :

Chosen Option :

: 630680703143
Option 11D :
Option 21D :

6306802754321
6306802754323

: 6306802754320

6306802754322

Not Answered




QS FegeEy IfEReeR A, "I TgHT" FT dcTd FAT €7

Ans o 1.

X 2. U HEYEI AT
X 3 U YN & TN Zasa
X 4 T JepT T HAlfwel

371 AR e g % T veer AR JreT U Fege AfeeF

Question ID :
Option 11D :
Option 2 ID
Option-3 ID
Option 4 ID :

Status :

Chosen Option :

630680703158
6306802754383

: 6306802754381
: 6306802754382

6306802754380

Not Answered

Ans o 1.

< 2. #faReFa d@res ga=r

X 3 HresT avgAT F FOET FE
X 4 gérer HiesT A FATAT

Q6 sFeledT FF H "TresEr g 1 wufie F1E w2 g7

fBfer gt & 2w, Eest $r 75 1 e 3k @

Question ID :
Option 11D
Option 21D :
Option 31D :
Option 4 ID

Status

Chosen Option :

630680703155

: 6306802754370

6306802754369
6306802754368

: 6306802754371

: Not Answered




Ans

X 1. Freea B

X2 g FEIAaEe

X 3 Fres ThieET

v 4 HIEaE Tl

Q.177 3\ 9fFw & B g 74 § WS @ wF IC dees Faws TRR amEeye dwes s @ R
HIS Hiale Ul @ GAEST Far 87

Question ID :
Option 11D :
Option 21D :
Option 3 1D :
Option 4 1D :

Status

Chosen Option :

630680703172

6306802754436
6306802754439
6306802754438
6306802754437

: Not Answered

Ans

X 1. g fr E@esT

v 2. TefFeF Hest

X3 feat @t

x4 ffd-ar "est

Q.178 &&= /o= & FROT FT THR FT Tosd HHAT T ST =T & 399197 Brar Sar &7

Question ID :

Option 11D :

Option 2 ID

Status :

Chosen Option :

630680703152
6306802754356

1 6306802754357
Option 31D :
Option 41D :

6306802754358
6306802754359

Not Answered




Q.179 B\ v#r 71 gfewe 398 3eafts 599 3oy Waanr § O e s § o st @ seae

TFTIFR Afre H 39T fomar =mar &7
Ans X 1.

ATT-HTFAES-BHIF s Hles-shac ifersel (MOSFET)

X 2. gifelTes aifeee

X 3. ghayEr S ZifeEeT (BJT)

v - Frez-g%heae FfereeT (FET)

Question ID :

Option 11D :

Option 21D

Status :

Chosen Option :

630680703174
6306802754446

1 6306802754447
Option 3'1ID :
Option 4 1D :

6306802754444
6306802754445

Not Answered

Q.180 TH WEEIees Hel H, F9 UF Bleld Haers T&1 EgRT HFWT g & &t Far g &7

S v TF SoECIA-0g JIH SATIT ST §

X 2. BT JRTY e FLar &
X3 ¥ FAT 390 AT &
X 4 et SfaRifyT g ¥

Question ID :

Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status

Chosen Option :

630680703163

6306802754403
6306802754402
6306802754401
6306802754400

: Not Answered




Q18 i H T FUTT &7 3237 R &7
s . faega o # Fafed S
X 2. FEE-Agled [@estord A oet Far

o 3.

dreeeT Ul FF FH FlA T 359 2 T ekl
X 4. OUTehed ETAT

Question ID : 630680703150
Option 11D : 6306802754349
Option 2 1D : 6306802754350
Option' 31D : 6306802754348
Option 4 ID : 6306802754351
Status : Not Answered

Chosen Option : --

Q.182 7= oI 3R Siees HT Welelat Hr &THAT & FROT YFCHRN Hithe # HAAT W g J60 & s
ST R s 27

Ans 1 QiiEEhT ETaS
X2 NFI A
X 3. FAT SIS
X 4 gepTel 3cHeies srAs (LED)

Question ID : 630680703171
Option 11D : 6306802754434
Option 2 ID : 6306802754435
Option 3 ID : 6306802754432
Option 4 ID : 6306802754433
Status : Not Answered

Chosen Option : --




Q.183 Ml 1 T Fafa = & Bw a2 A 3w & amrak w B AC Fae s&R &7 3

T Smar &7
Ans X1 HiesT
v 2 SHET
X3 9rET hEe
X4 UFEES FE
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680703181

6306802754475
6306802754474
6306802754473
6306802754472

Not Answered

Q184 a7 W S dtemfEEhr A, "C-Y T 27
Ans X1 F2fr B s Fr T
X2 gl Ao & g

& 3
Ig 30 T F T T & ow W ¥l o= o1 Ree A

X 4 o &THTT HTEIET-3ET (mAh) HJ

Question ID :

Option 1 ID

Status

Chosen Option :

630680703170

1 6306802754430
Option 21D :
Option 31D :
Option 41D :

6306802754429
6306802754431
6306802754428

: Not Answered




Q185 fagga Rt ¥ =g g@= & fow frw &= swetor &1 3weT fRar ST 87

Ans K. fEe-ATS el
v 2 grag e
X3 FedrHERET
X4 Fray el

Question ID

Option 41D

Status :

Chosen Option :

: 630680703144
Option 11D :
Option 21D :
Option 31D :
: 6306802754325

6306802754324
6306802754327
6306802754326

Not Answered

Q186 Heeffer &, "% TSN oeg T FIT Y B2
ms X o & R Wese

X 2. AT HesT g T

x 3 A#faNEa F@est g

o 4.

UTe & T W W@ & T 3Ty g@est JiE 8960

Question ID :

Option 1 ID

Status

Chosen Option :

630680703154

1 6306802754366
Option 2 1D :
Option 31D :
Option 4 ID :

6306802754364
6306802754365
6306802754367

: Not Answered




QIS Jeqr F Futz dr FAr fHHT g B2

Ans X1 TeSTelT YeT T
X2 R@ra @ Aepar
X3 FEIr W BT AT

v s F e soaldr # TEER HEE

Question ID :
Option 11D :
Option 2 ID :
Option 3 ID :
Option. 4 1D :

Status

Chosen Option :

630680703147

6306802754336
6306802754338
6306802754337
6306802754339

: Not Answered

Q.188 FF TR & gEwER @ TufFe i gfdew TR e Bl g #R F e g & I R
g &2

ANS L TIR-BR EEHET
X 2 HRIIA-FR STHBTHT
X 5. BIFE-HIT EHBHT
X4 AfRAEE- PR TTEHER

Question ID :

Option 11D

Status

Chosen Option :

630680703151

: 6306802754353
Option 21D :
Option 31D :
Option 4 ID :

6306802754352
6306802754354
6306802754355

: Not Answered




S 3= Hgfeaal W Jeuad R & 998 F5 @ A 7

Ans X1 aTafes Iteeaw
X 2. gigETer (Impedance)
73 gfeRrer
v 4. rafdeg Voead

Q.189 AC Tfée &, BFW g &7 3900 38 0T F IU e F BT Fmer & S sgfer ¥ w3 €

Question ID :
Option 11D :
Option 2 ID :
Option 3 ID :
Option. 4 1D :

Status

Chosen Option :

630680703179

6306802754466
6306802754467
6306802754464
6306802754465

: Not Answered

o 2.

X 3. T $AYE IO TF I
K4 U AT A AT Aforn HORRAT FIAT &

Q190 Rf3eer wibe &, dife® oic ¥ Fay & "Reee o= F a2 e &7
Ans X Tes A St i el i @ e #ar g

T diferes AE ABeYe S e, faw o seu-wioerer Rufy o & wewar

Question ID :
Option 11D :
Option 2 ID :

Option 31D :
Option 41D :
Status :

Chosen Option :

630680703156

6306802754375
6306802754372
6306802754374
6306802754373

Not Answered




Q.191 TFHA 555 W ffiae & @A F1 § A Trad Az # el vy A dufr & 57 82

Ans X1 Ry
v ywres
X3 f
X ggrer

Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

630680703166

6306802754414
6306802754413
6306802754412
6306802754415

Not Answered

Q_192%ﬁmgﬁﬁﬁm(MUX)aﬂmmW%?

Ans o 1.

F5 TGS H W UF F1 T4 A HN 38 UF HBTIE T F FLA

X 2. 32T T HEUT T ¥ FIET T

X3 FarE: B
glen [Hda ScHeoe chiial

X 4 HaodrT fharT &L

Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 ID :

Status

Chosen Option :

630680703157

6306802754378
6306802754377
6306802754379
6306802754376

: Not Answered




Ans X 1. gfErrer
X2 FeEFE
v 5 guiRT
X4 sraE

Q.193 Toega & # Tega o1 & Todd & & fov vw fea ges a1 swanr Gar sar 32

Question ID :

Option 11D

Option 31D :
Option 4 ID :

Status

Chosen Option :

630680703148

1 6306802754340
Option 21D :

6306802754341
6306802754343
6306802754342

: Not Answered

Q1% oy afdFe # varsas s o TrufdE w1 Far 2

X 2. Hhdr @ gatad LT
X s o varg Fwr FfEaFET FE
X 4 eriar SeTe T

ANS 1 IS ET-UASIEH Bl W Ao TISFH Hl Ushel

Question ID :
Option 11D :
Option 21D :

Option 3 ID

Status :

Chosen Option :

630680703149
6306802754345
6306802754346

1 6306802754344
Option 41D :

6306802754347

Not Answered




Q19° Op-Amp & Wy affa Fses wfese &1 Fgea omer #r 32

Ans 1 Jg FT-HIgTeT UeH T JaTT X HhAT §

X 2 g DC o 9l F{dl &
X 3 TE ATSS B GeH HAT &
X4 gg -9 el F T F FI AT &

Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

630680703165
6306802754411
6306802754409
6306802754408
6306802754410

Not Answered

QJ%mﬁwuﬁaﬁrmaﬁﬁaﬁq@mﬁmﬁrAcmﬁwmﬁ?

Ans

X 1. HIST FHEer

X 2. ZrafEers Fae
v 3 OiEaw e Fed
X 4 FeRoT Faer

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

630680703182

6306802754479
6306802754478
6306802754477
6306802754476

Not Answered




Q17 AC FaA H 7ITA HBFCI H TATHS A F4T g2
Ans X\ T3 Hiee FIE HN o FTT

v 2. Fihe F U FET HR Rea e o Fer

X s g T JeId FIAT

X 4 et FaET

Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

630680703180
6306802754468
6306802754471
6306802754469
6306802754470

Not Answered

Q.198 & % fhted Hfloer W o el 8051 ARHIHeeR & T Afiwan Faiw aged Fr &2

Ans

X 1.8 MHz
<2 4 MHz
¥ 3 12 MHz
x 416 MHz

Question ID :
Option 11D :
Option 21D :

Option 31D :
Option 41D :
Status :

Chosen Option :

630680703159

6306802754386
6306802754385
6306802754384
6306802754387

Not Answered




Ans

X . ARRIcHS 3T
X 2. gfAdr 9

S ircraickic
X 4 TheFrs 919

Q.199 TH SEgHY THFIHrY H, W TR & o H R @ gAEeT B S aear 2

Question ID :
Option 11D :
Option 21D :

Option 3 ID

Status :

Chosen Option :

630680703164
6306802754407
6306802754406

1 6306802754404
Option 41D :

6306802754405

Not Answered

Q2003 # 97 & & grufds F1F Fr &2
Ans X 1. ZferERT @ AfFT 9aTe FEEAT

X 2. zegr femde &y

X5 FRal F yaTed AT

o 4

TR 3T 3cH=F & S 9N ¥a1g & Fag a5

Question ID :

Option 1 ID

Option 31D :
Option 41D :
Status

Chosen Option :

630680703173

1 6306802754441
Option 21D :

6306802754443
6306802754440
6306802754442

: Not Answered




